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I Year (T.D.C.) Science Examination, 2016

COMPUTER SCIENCE
~ (Computer Oriented Numerical Method)
Paper—III
Time Allowed : Three Hours

Maximum Marks : 50
PART-A ( @UE-37) . [Marks : 10
Answer all questions (50 words each).

All questions carry 'equa‘l marks.
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PART-B (@TS-9) [Marks : 25
h), selecting one

Answer five questions (250 words eac
from each Unit. All questions carry equal marks.
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PART-C ( @vs-4) [Marks : 15
Answer any two questions (300 words each).

All questions carry equal marks.
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PART-A
(Tug-31)

1. () Add two Normalised Floatin’g point numbers
.4546E5 to .5433E7.

< TS e Wi TR oW o@m @
(i) What is Finite Error ?
fefe tw @ @2
(iii) What do you understand by Pivoting ? ]
TEAET F o g 8 !
(iv) What are Iterative methods ?

wfa fagra a1

(v) Give any two name of methods used to solve

Differential equations.
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What are Stable and Unstable procedures ?

@aﬁwm@aﬁmw@

Wr1te the formula for Lagrange interpolation.

g:,rtq\ﬁsﬂ % g fateul
ne Truncatwn error.

(viii) Defi
FahyA T W oRCAT %{f@ll
'ven below using

ate the function g1

(vi)

(vi1)

(ix) Integr
Simpson’s rule :

X f(x)
_06 4
~ 0.5 2
—~ 0.4 3
- 03 8
~ 0.2 4
_0.1 2
0 2
0.1 3
0.2 5
0.3 8
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-

f(x)
- 0.6 4
- 0.5 9
- 04 3
- 0.3 3
- 0.2 4
- 0.1 -

0 2
0:1 .
0.2 5
0.3 g

(x) Compare Infegr‘ation formula.
Y gy qo T Hifsg
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elimination -
2X +y+4z = 19
4X A ]‘ly . Z. = 33

8% ~ 3y + 25 = 99,
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g wfateeE & B gy=ad & gadRL -
2x+y+4z'=-12 |
4x + 11y —z = 33

3x — 3y +2z = 20.

5. Give the comparison of Direct and Iterative

UNIT-TII

(gwTE-11)

6. Solve the following differential equations using second

order Runga-Kutta method :

dy _ o, where y(0) = 2. Find yO.) and y(0.2).

dx
W—@{aﬁmmwﬂhmﬁﬁﬁﬁ%ﬁm
R Ca B MRS GEIERL |

%:y—x, st y(0) = 2. y(0.1) ST y(0.2) A IS

7. Write the algorithm of Predictor—Corrector method.

fraaer-siaet fagra e fafem)

1063/123/1,280 - 6

http://www.mlsuonline.com


http://www.mlsuonline.com
http://www.mlsuonline.com

http://www.mlsuonline.com

UNIT-1V

(3&TE-1IV )
Write the algorithm of Lagrange inerpolation method.
RS g=TqrAvE fas o TiRe fafem)

A table of Polynomial is given below. Fit a Polynomial
for given divided difference table. Find the value of

fix) at x = 2.5 -

x “ f(x)
-3 . _30
1 — 29

0 - 12

3 330

5 3458

RT 7o aief=ifie = arol o TearfaTer =t
fhe W@ gu fadfg e 299 forfee  qeny
fx) at x = 2.5 &Y oA Fifem .

X f(x)
-3 - 30
~1 .~ 22
0 - 12
330
5 3458
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11.

12.
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UNIT-V

(THE-V)

1
Evaluate I2X dx using Trapezoidal rule with
0

h = 0.1.
Juegee M ® e h =01 oW T T

1
jzxdx FT.-HWE [E HISC
o . .

Write algorithm for Integrating a tabulated function

using Simpson’s rule.

fooqge a1 wEE S ‘gq gzr&%n zgé%g HaRH
&1 woren fafem
- - PART-C
(@Ue-|)
Find a _real root of the given equation using the
Bisection method :
x3 - 4x — 9 = 0.
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x3 —4x — 9 = 0.
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13. VSolve the following set of equations by Gauss-Seidal

iteration method :

3x + 20y —z = — 18
2% — 3y + 20z = 25

20x +y — 2z = 17. '
g faee TReE TaET W1 SN U SRl &
kvl ﬁﬁ?l'q T

3x + 20y —z = — 18
2% — 3y + 20z = 25
20x +y — 2z = 17.

14. Solve the following differential equation using Euler’s

method :

d:
?.1%““ 2xy? =0, 0<x<1, taking h = 1/4 given initially

y=1and x = 0.

ﬁ@tﬁmwmaﬂﬁmm%ﬁﬁwm
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a \
-d—i+ 2xy2 =0, 0<x<1, taking h = 1/4 given initially

y =1 and x = 0.
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15 erte the algorithm of Linear regressmn

T fEeE #1 weiiftem %lﬁgq
16. (a) What is Quadrature ? Discuss Gaussian
quadrature formula.

(b) Discuss the errors in Integration formulae.

(a) w@awé?ﬂﬁmmmaﬁﬁéﬂ
EdlEry |

(b) T HROA § TR H gHED)
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